Name Group #

# leads to # # leads to #
#  leadsto#_ #  leadsto#_
# leads to # # leads to #
#  leadsto#_ #  leadsto#_
# leads to # # leads to #




Previous Answer: x = 8

Solve for x:

x+8 =30




#2 Previous Answer: x = (

Solve for x:

2x — 14 = 80




#3 Previous Answer: x = 13

Solve for x:

4x + 8 = 6x — 20




#A4 Previous Answer: x = 28

Solve for x:

2(x + 4) = 32




#5 Previous Answer: x = 22

Solve for x:




H6 Previous Answer: x = 6

Solve for x:

30 —2x = -8




H#7 Previous Answer: x = 14

Solve for x:

x+8=2(x+4)




H8 Previous Answer: x = 47

Solve for x:

2(x—4) = 4(7 — x)




#HO Previous Answer: x = 12

Solve for x:

45 = 5(x — 4)




#10 Previous Answer: x = 19

Solve for x:

3x =2(x+4)




